Density Practice Problems
(Adapted from http://algebralab.org/practice/practice.aspx?file=Word_Density.xml)
DON’T FORGET!  1 cm3 = 1 mL
1. Calculate the mass of a liquid with a density of 3.2 g/mL and a volume of 25 mL.
2. An irregular object with a mass of 18 kg displaces 2.5 L of water when placed in a large overflow container. Calculate the density of the object.
3. The density of silver (Ag) is 10.5 g/cm3.  Find the mass of Ag that occupies 965 cm3 of space.  

4. A 2750 g sample of a substance occupies a volume of 250.0 cm3.  Find its density in g/cm3.

5. Under certain conditions, oxygen gas (O2) has a density of 0.00134 g/mL.  Find the volume occupied by 250.0 g of O2 under the same conditions.  

6. Find the volume that 35.2 g of carbon tetrachloride (CCl4) will occupy if it has a density of 1.60 g/mL.
7. What is the density of a piece of wood that has a mass of 25.0 grams and a volume of 29.4 cm3?

8. A piece of wood that measures 3.0 cm by 6.0 cm by 4.0 cm has a mass of 80.0 grams. What is the density of the wood? Would the piece of wood float in water?  (volume = L x W x H)  hint: the density of water is 1 g/cm3
9. A cup of gold colored metal beads was measured to have a mass 425 grams. By water displacement, the volume of the beads was calculated to be 48.0 cm3. Given the following densities, identify the metal.

 

Gold: 19.3 g/mL

Copper: 8.86 g/mL
Bronze: 9.87 g/mL
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10. The volume of a solution was measured in a graduated cylinder (shown above). If the mass of solution is measured to be 60.75 grams, what is the density of the solution?

11. An ice cube measuring 5.80 cm by 5.80 cm by 5.80 cm has a density of 0.917 g/mL. What is the mass?

12. Gasoline is a non-polar liquid that will float on water. 450 grams of gasoline is spilled into a puddle of water. If the density of gasoline is 0.665 g/mL, what volume of gasoline is spilled?

13. The density of aluminum is 2.70 g/mL. If the mass of a piece of aluminum is 244 grams, what is the volume of the aluminum?
14. A graduated cylinder has a mass of 80 g when empty. When 20 mL of water is added, the graduated cylinder has a mass of 100 g. If a stone is added to the graduated cylinder, the water level rises to 45 mL and the total mass is now 156 g. What is the density of the stone?
Answers:
(0.850 g/cm3)   (1.1 g/cm3)   (1.35 g/mL)   (2.2 g/mL)   (7.2 kg/L)   (8.85 g/mL)   (11.0 g/cm3)   (22.0 mL)   (80 g)   (90.4 mL)   (179 g)   (680 mL)   (10,132.5 g)   (186,567 mL)   
